LIMITS OF ACCURACY
GRADE 9

—

- Five hoys have a mass, given to the nearest 10 kg, of: 0k, 254 455 1 55 T g
S0 kg. 50 kg, 60 kg and 80 kg. Caleulate the least possible = 255Ky L=
total mass,

3y B ¥ SO v oS

= L=

2. A water tank measures 30 em by 50 cm by 20 ¢m, If cach of
these measurements is given to the nearest centimedtre, =3, 575 VS ean
enleulate the largest possible volume of the tank.

3. The volume of a cube is given as 125 cm to the nearest
whole number, . £ 5]

a) Express as aninequality the upper-and lower bounds of l2eh St N <1252 Sem .
the cube’s volume, D}l
L <« 5.0 :

. b) Express as an inequality the upper und lower bounds of “+, 49 =
the length of cach of the cube’s edpes,

4. The radius of a circle is given as 4.00 cm to 2 d.p. Express
as an inequality-the upper and lower bounds for: ' =
a) the circumference of the circle, LS. L

b) the area of the circle. "

3. A cylindrical water tank has a volume of 6000 cm? correct =
to 1s.f. A full cup of watcr from the tank has a volume of L Eol _ A2so ) = A2 e
300 cm? correct Lo 2 s.I. Calculate the maximum number of —ac=

full cups of water that can be drawn from the tank.

6. A match measures 5 cm to the nearest centimetre, 100
matches end to end measure 5.43 m correct to 3 s.f. TR, B (27

a) Calculate the upper and lower limits of the length of s ok, S p
one match. . s ey C§?
b). How can the limits of the length of a match be found to  =i%= 5. %4> ’ 5. e A
2d.p.? ~ Sl
. = = 2 F= + LTS
i e L 2o+ vy = 1o g
7 The masses to the nearest 0.5 kg of two parcels are 1‘.:: kg »3_ B B s e 4—3
" and 25 kg. Calculate the lower and upper bounds of their
combined mass.
2 1
= “+ |~ = “ih - ___'T_L..::—
3 = -
T is gi 42 kg correct to 2 s.6. kg rnc L & _
T'he mass of 60 potatocs Is given as g I 05 oss 1&551:_3

= Calculate the lower and upper bounds for the average mass

ol one potato.

1 sig fig. Write as a'n
The dimensions of a rectangle are 100m and 50 both correct to 1 sig fig s

9. e ,
. ) "--B: L\-ﬂ?:"-%‘-; Wl = i
inequality the upper and lower bound of its area i - B Ly
. e 110710110 » Y] - fﬂ. " v
108) -Ih[‘hn “Inl::c:]rﬁx.hg::;;?;.r\:.::t ::f‘ a circular pizza as 105 em and its diameter as 34 em, both
c measures
L3

correct to the nearest centimetre. oS = 3. AR
——

Caleulate the lower bound ol his estimate of the value of . -
Give your answer correct to 3 decimal places. |
' i A\ v L =7
b)i) Given that the volume of a cylinder is V = srrh (where r and h are the radius = \ -
and height of the cylinder) make r the subject of the formula. ‘
i) The volume of a cylindrical can is 550cm’, corrch to the m:ar::st 10¢m’.
The height of the can is 12 em correct to the nearest centimetre.
Caleulate the upper bound of the radius of the can. . \ 555 g 3 a1 9 = -%-s
N <YW

Give your answer correet to 3 decimal places.




